



第 5 章作业

危国锐 516021910080

(上海交通大学电子信息与电气工程学院, 上海 200240)

摘 要: 摘要。

关键词: 词 1, 词 2

Homework (Chapter 5)

Guorui Wei 516021910080

(*School of Electronic Information and Electrical Engineering,
Shanghai Jiao Tong University, Shanghai 200240, China*)

Abstract: Abstract.

Keywords: keyword 1, keyword



目 录

| | |
|-------------------|---|
| 摘要 | i |
| Abstract..... | i |
| 1 Chapter 5 | 1 |
| References | 6 |



1 Chapter 5

6. 解: LTI系统:因果 $\Leftrightarrow h[n] = 0 \ (\forall n < 0)$,

LTI系统:稳定 $\Leftrightarrow \sum_{n=-\infty}^{+\infty} |h[n]| < +\infty$.

(a) $h[n] \neq 0 \Rightarrow$ 非因果; $\sum_n |h[n]| = \sum_{n=0}^{+\infty} (\frac{1}{2})^n = \frac{1}{1-\frac{1}{2}} < +\infty \Rightarrow$ 稳定;

(b) $h[n] = 0 \ (\forall n < 0) \Rightarrow$ 因果; $\sum_n |h[n]| = \sum_{n=-\infty}^0 (\frac{1}{2})^n = \sum_{n=0}^{+\infty} (\frac{1}{2})^{-n} \rightarrow +\infty \Rightarrow$ 不稳定;

(c) $h[-1] \neq 0 \Rightarrow$ 非因果; $\sum_n |h[n]| = \sum_{n=-\infty}^0 3^n = \sum_{n=-\infty}^0 (\frac{1}{3})^n < +\infty \Rightarrow$ 稳定;

(d) $h[n] = 0 \ (\forall n < 0) \Rightarrow$ 因果; $\sum_n |h[n]| = \sum_{n=0}^{+\infty} 3^n \rightarrow +\infty \Rightarrow$ 不稳定;

7. 解: $h[n] = h_1[n] * (h_2[n] - h_3[n])$
 $= u[n] * (\delta[n] - \delta[n-N]) = u[n] - u[n-N].$

ICE2301

Homework (Chapter 6)

2022.04.28 (due date)

$\exists N \in \mathbb{N}, \forall n \in \mathbb{Z}, x[n] = x[n+N].$ (希望) $x[n] = \sum_k a_k e^{j\frac{2\pi}{N}kn}, e^{j\frac{2\pi}{N}kn}$ 具有 N 周期,

$\Leftrightarrow 2\pi N = 2k\pi \Leftrightarrow 2\pi k = k \frac{2\pi}{N} \cdot N. \therefore x[n] = \sum_k^{(N)} a_k e^{j\frac{2\pi}{N}kn} \Rightarrow a_k = \frac{\langle x, e^{j\frac{2\pi}{N}kn} \rangle}{\langle e^{j\frac{2\pi}{N}kn}, e^{j\frac{2\pi}{N}kn} \rangle}$

(最小二乘逼近, 张量积) $\Rightarrow a_k = \frac{1}{N} \sum_{n=0}^{N-1} x[n] e^{-j\frac{2\pi}{N}kn}$.

定义 $x_N[n] = \begin{cases} x[n], & n \in \text{主周期, eg. } [-N/2, N/2] \text{ 并 } N \uparrow \\ x_N[n+N], & \forall n. \end{cases}$ 则 $\forall n: \lim_{N \rightarrow +\infty} x_N[n] = x[n].$

而 $x_N[n] = \sum_k^{(N)} e^{j\frac{2\pi}{N}kn} \frac{1}{N} \sum_m^{(N)} x[m] e^{-j\frac{2\pi}{N}km} \frac{2\pi}{N} \cdot \frac{N}{2\pi} \xrightarrow{N \rightarrow +\infty} \int_{-\pi}^{\pi} \frac{1}{2\pi} \cdot e^{j\omega n} d\omega \sum_m x[m] e^{-j\omega m} \Rightarrow x[n]$

定义 $X(\omega) := \mathcal{F} \left[\sum_n x[n] e^{-j\omega n} \right] =: \mathcal{F}[x[n]],$ 则 $x[n] = \frac{1}{2\pi} \int_{-\pi}^{\pi} X(\omega) e^{j\omega n} d\omega =: \mathcal{F}^{-1}[X(\omega)].$

类似FT: $X(\omega) := \mathcal{F}[x(t)] := \int_{\mathbb{R}} x(t) e^{-j\omega t} dt, \quad x(t) = \mathcal{F}^{-1}[X(\omega)] := \frac{1}{2\pi} \int_{\mathbb{R}} X(\omega) e^{j\omega t} d\omega.$



$$1. \text{解: (a) } a^n u[n] \leftrightarrow \sum_{n=0}^{+\infty} a^n e^{-j\omega n} \stackrel{|a|<1}{=} \frac{1}{1 - ae^{-j\omega}}$$

$$\sin(\omega_0 n) = \frac{1}{2j} (e^{j\omega_0 n} - e^{-j\omega_0 n}), \quad x[n] e^{j\omega_0 n} \leftrightarrow \frac{1}{2\pi} \int_{-\pi}^{\pi} \underbrace{\tilde{X}(\omega)}_{\omega'=\omega-\omega_0} e^{\underbrace{j(\omega+\omega_0)n}}_{\omega'} d\underbrace{\omega}_{\omega'} \leftrightarrow \tilde{X}(\omega - \omega_0)$$

$$\therefore a^n u[n] \cdot \sin(\omega_0 n) = a^n u[n] \cdot \frac{1}{2j} (e^{j\omega_0 n} - e^{-j\omega_0 n}) \leftrightarrow \frac{1}{2j} \left[\frac{1}{1 - ae^{-j(\omega - \omega_0)}} - \frac{1}{1 - ae^{-j(\omega + \omega_0)}} \right]$$

$$(b) \delta[n] := \begin{cases} 1, & n=0 \\ 0, & \sim \end{cases} \leftrightarrow \sum_n \delta[n] e^{-j\omega n} = 1$$

$$\sum_l \delta(\omega - 2\pi l) \leftrightarrow \frac{1}{2\pi} \int_{-\pi}^{\pi} \sum_l \delta(\omega - 2\pi l) e^{j\omega n} d\omega = \frac{1}{2\pi} \Rightarrow \mathcal{F}[\delta] = 2\pi \sum_l \delta(\omega - 2\pi l), \text{ i.e.}$$

$$\boxed{\sum_{n=-\infty}^{+\infty} e^{-j\omega n} = 2\pi \sum_l \delta(\omega - 2\pi l)} \quad \text{互逆 FT: } \boxed{\mathcal{F}[\delta] = 2\pi \delta(\omega) = \int_{-\infty}^{+\infty} e^{-j\omega t} dt}$$

$$\therefore \cos\left(\frac{18}{7}\pi n\right) \leftrightarrow \left(e^{j\frac{18}{7}\pi n} + e^{-j\frac{18}{7}\pi n}\right)/2 \leftrightarrow \pi \sum_l \left[\delta(\omega - \frac{4}{7}\pi + 2\pi l) + \delta(\omega + \frac{4}{7}\pi + 2\pi l)\right]$$

$$\sin(2n) = \frac{1}{2j} (e^{j2n} - e^{-j2n}) \leftrightarrow \frac{\pi}{j} \sum_l \left[\delta(\omega - 2 + 2\pi l) - \delta(\omega + 2 + 2\pi l)\right]$$

$$\therefore x[n] \leftrightarrow \pi \sum_l \left[\delta(\omega + \frac{4}{7}\pi + 2\pi l) + \delta(\omega - \frac{4}{7}\pi + 2\pi l) + j\delta(\omega + 2 + 2\pi l) - j\delta(\omega - 2 + 2\pi l)\right]$$

$$(c) \sum_{k=0}^{+\infty} \left(\frac{1}{4}\right)^k \delta[n-3k] = \sum_{k=0}^{+\infty} \frac{1}{4} \sim \leftrightarrow \sum_n e^{-j\omega n} \sum_{k=0}^{+\infty} \left(\frac{1}{4}\right)^k \delta[n-3k]$$

$$\stackrel{\text{原式}}{=} \sum_{k=0}^{+\infty} \left(\frac{1}{4}\right)^k \sum_n e^{-j\omega n} \delta[n-3k] = \sum_{k=0}^{+\infty} \left(\frac{1}{4} e^{-j\omega}\right)^k = \frac{1}{1 - \frac{1}{64} e^{-j3\omega}}$$

$$(c) \text{另解: } x[n] := \sum_{k=0}^{+\infty} \left(\frac{1}{4}\right)^k \delta[n-3k] \stackrel{n=3k}{=} \begin{cases} \left(\frac{1}{4}\right)^n, & 3|n, n \geq 0 \\ 0, & \text{其他} \end{cases}$$

$$\Rightarrow y[n] := x[3n] = \left(\frac{1}{4}\right)^{3n} u[n], \Rightarrow x[n] = \begin{cases} y[n/3], & n \in 3\mathbb{Z} \\ 0, & \text{其他} \end{cases}$$

$$Y(\omega) = 1/[1 - \frac{1}{64} e^{-j\omega}]$$

$$\Rightarrow X(\omega) := \sum_n x[n] e^{-j\omega n} = \sum_{n \in 3\mathbb{Z}} y[n/3] e^{-j\omega n} \stackrel{n=3k}{=} \sum_k y[k] e^{-j\omega 3k} = Y(3\omega)$$

$$= 1/[1 - \frac{1}{64} e^{-j3\omega}]$$



$$2. \text{解: (a)} \quad x[n-n_0] = \frac{1}{2\pi} \int_{-\pi}^{\pi} X(\omega) e^{j\omega(n-n_0)} d\omega \leftrightarrow X(\omega) e^{-j\omega n_0}$$

$$1 \leftrightarrow \delta[n] = \sum_n e^{-j\omega n} = 2\pi \sum_k \delta(\omega - 2\pi k), \quad \delta[n] \leftrightarrow \sum_n \delta[n] e^{-j\omega n} = 1.$$

$$\therefore x[n] = \mathcal{F}^{-1}[X(\omega)] = \delta[n] - 2\delta[n-3] + 4\delta[n-2] + 3\delta[n-6].$$

$$\begin{aligned} (b) \quad x[n] &= \frac{1}{2\pi} \int_{-\pi}^{\pi} X(\omega) e^{j\omega n} d\omega = \frac{1}{2\pi} \int_{-\pi}^{\pi} e^{-j\omega n} d\omega \cdot \sum_k (-1)^k \delta(\omega - \frac{\pi}{2}k) \\ &= \frac{1}{2\pi} \int_{-\pi}^{\pi} d\omega \cdot \sum_{k=0}^3 (-1)^k e^{-jk\frac{\pi}{2}n} \delta(\omega - \frac{\pi}{2}k) = \frac{1}{2\pi} \left[\sum_{k=0}^3 (-1)^k e^{-jk\frac{\pi}{2}n} \right] \\ &= \frac{1}{2\pi} [1 - (-j)^n + (-1)^n - (j)^n]. \end{aligned}$$

$$\begin{aligned} (c) \quad \cos^2 \omega &= \frac{1}{2} + \frac{1}{2} \cos(2\omega) = \frac{1}{2} + \frac{1}{4} (e^{j2\omega} + e^{-j2\omega}) \\ &\leftrightarrow \frac{1}{2} \delta[n] + \frac{1}{4} (\delta[n+2] + \delta[n-2]). \end{aligned}$$

$$3. \text{解: (a)} \quad X(\omega) = \frac{u \cdot e^{-j\omega}}{u^2 - u - 6} = \frac{-6u}{u^2 - u - 6} = \frac{-18/5}{u-3} + \frac{12/(1-5)}{u+2} = \frac{6}{5} \frac{1}{\frac{1}{3} - e^{-j\omega}} - \frac{6}{5} \frac{1}{1 + \frac{1}{2} e^{-j\omega}}$$

$$\leftrightarrow x[n] := \frac{6}{5} u[n] \left(\left(\frac{1}{3}\right)^n - \left(-\frac{1}{2}\right)^n \right).$$

$$[\alpha^n u[n] \leftrightarrow \sum_{n=0}^{\infty} (\alpha e^{-j\omega})^n = \frac{1}{1 - \alpha e^{-j\omega}}, \quad |\alpha| < 1]$$

$$(b) \quad 1 \leftrightarrow 2\pi \sum_m \delta(\omega - 2\pi m), \quad e^{j\omega_0 n} x[n] \leftrightarrow \sum_n x[n] e^{-j(\omega - \omega_0)n} = X(\omega - \omega_0).$$

$$\therefore x[n] \leftrightarrow 1 + \frac{1}{2} \left(e^{j\frac{\pi}{2}n} + e^{-j\frac{\pi}{2}n} \right) = 1 + \cos\left(\frac{\pi}{2}n\right).$$

$$\begin{aligned} (c) \quad \begin{array}{c} 1 \quad 1-x_1[n] \\ \downarrow \quad \downarrow \\ \frac{1}{-N_1} \quad \frac{1}{N_1} \end{array} \leftrightarrow X_1(\omega) &= \sum_{-N_1}^{N_1} e^{-j\omega n} = \frac{e^{j\omega N_1} (1 - e^{-j\omega(2N_1+1)})}{1 - e^{-j\omega}} \\ &= \frac{2j \sin[\omega(N_1 + \frac{1}{2})]}{2j \sin(\omega/2)} = \begin{cases} \frac{\sin[\omega(N_1 + \frac{1}{2})]}{\sin(\omega/2)}, & \omega \neq 0, \\ \sum_n x[n] = 2N_1 + 1, & \omega = 0. \end{cases} \end{aligned}$$

- 15 -



$$\Rightarrow x_2[n; M=2] = \begin{array}{c} 1 \quad \quad \quad 1 \\ \downarrow \quad \quad \downarrow \\ 0 \quad \quad \quad 1 \\ \leftarrow \quad \quad \rightarrow \\ -2 \quad \quad \quad 2-M \end{array} \leftrightarrow X_1(\omega; M=2) = \begin{cases} \frac{\sin(\frac{5}{2}\omega)}{\sin(\omega/2)}, & \omega \neq 0, \\ \sum_n x_1[n] = 5, & \omega = 0. \end{cases}$$

$$x_2[n] := \sum_{m=-\infty}^n x_1[n; M=2] \leftrightarrow X_2(\omega).$$

$$\Rightarrow x_2[n] - x_2[n-1] = x_1[n; M=2] \leftrightarrow (1 - e^{-j\omega}) X_2(\omega) = X_1(\omega; M=2)$$

$$\Rightarrow X_2(\omega) = \frac{X_1(\omega; M=2)}{1 - e^{-j\omega}} + \bar{x}_2 \cdot 2\pi \sum \delta(\omega - 2\pi k),$$

$$\bar{x}_2 = \lim_{N \rightarrow +\infty} \frac{1}{2N+1} \sum_{n=-N}^N \sum_{m=-\infty}^{+\infty} x_1[m; M=2] u[n-m] = \lim_{N \rightarrow +\infty} \sum_m \frac{N-m+1}{2N+1} X_1(\omega) \Big|_{\omega=0} = \frac{1}{5} X(\omega)$$

$$\Rightarrow X_2(\omega) = \frac{X_1(\omega; M=2)}{1 - e^{-j\omega}} + \pi X_1(\omega) \delta(\omega), \quad |\omega| < \pi$$

$$= \frac{1}{1 - e^{-j\omega}} \frac{\sin \frac{5\omega}{2}}{\sin \frac{\omega}{2}} + 5\pi \delta(\omega), \quad |\omega| < \pi.$$

$$\therefore X(\omega) = X_2(\omega) - 2\pi \delta(\omega) \xleftrightarrow{|\omega| < \pi} x_2[n] - 1 = \sum_{m=-\infty}^n x_1[m; M=2] - 1,$$

$$x_2[n] := \sum_{m=-\infty}^n x_1[m; M=2] = \sum_{m=-\infty}^n [\delta[m+2] + \dots + \delta[m-2]]$$

$$= u[n+2] + \dots + u[n-2]. \quad \left[\sum_{m=-\infty}^n \delta[m] = u[n] \right]$$

$$\therefore x[n] = u[n+2] + \dots + u[n-2] - 1.$$

$$4. \text{解: } h[n] = \left(\frac{1}{2}\right)^n u[n] \leftrightarrow H(\omega) = \sum_n h[n] e^{j\omega n} = \sum_{n=0}^{+\infty} \left(\frac{1}{2} e^{-j\omega}\right)^n = 1 / [1 - \frac{1}{2} e^{-j\omega}].$$

$$x[n] = x[n] * \delta[n] = \sum_m x[m] \delta[n-m] \xrightarrow{\text{LST}} y_{zs}[n] = \sum_m x[m] h[n-m] = x[n] * h[n].$$

$$\therefore Y(\omega) = \mathcal{F}[y_{zs}[n]] = \sum_n e^{-j\omega n} \sum_m x[m] h[n-m] = \sum_m x[m] e^{j\omega m} \sum_n h[n-m] e^{-j\omega(n-m)} = X(\omega) H(\omega)$$



$$4(a) \quad X(\omega) = 1/[1 - \frac{3}{4}e^{-j\omega}] \Rightarrow Y(\omega) = H(\omega)X(\omega) = \frac{1}{(1 - \frac{1}{2}e^{-j\omega})(1 - \frac{3}{4}e^{-j\omega})}$$

$$= \frac{1/(-\frac{1}{2})}{1 - \frac{1}{2}e^{-j\omega}} + \frac{1/(1-\frac{3}{4})}{1 - \frac{3}{4}e^{-j\omega}} \Leftrightarrow y_{zs}[n] = \left(-2 \cdot (\frac{1}{2})^n + 3 \cdot (\frac{3}{4})^n\right) u[n].$$

$$(b) \quad x[n] = (-1)^n = e^{j\pi n} \Leftrightarrow X(\omega) = 2\pi \sum_m \delta(\omega - \pi + 2\pi m)$$

$$\Rightarrow Y(\omega) = H(\omega)X(\omega) = \frac{2\pi \sum_m \delta(\omega - \pi + 2\pi m)}{1 - \frac{1}{2}e^{-j\omega}} = 2\pi \sum_m \frac{\delta(\omega - \pi + 2\pi m)}{1 - \frac{1}{2}e^{j\pi}}$$

$$= \frac{2}{3} \cdot 2\pi \sum_m \delta(\omega - \pi + 2\pi m) \Leftrightarrow y_{zs}[n] = \frac{2}{3} e^{j\pi n} = \frac{2}{3} (-1)^n.$$

$$5. \text{解: } (a) \quad y_{zs}[n] = x[n] * h[n] = \sum_m (\frac{3}{4})^m u[m] (\frac{1}{2})^{n-m} u[n-m]$$

$$= (\frac{1}{2})^n \sum_{m=0}^n (\frac{3}{2})^m u[n-m] = (\frac{1}{2})^n \cdot \frac{1 - (\frac{3}{2})^{n+1}}{1 - \frac{3}{2}} u[n] = \frac{u[n]}{-\frac{1}{2}} \cdot [-2 \cdot (\frac{1}{2})^n + 3 \cdot (\frac{3}{4})^n]$$

$$(b) \quad y_{zs}[n] = x[n] * h[n] = \sum_m (-1)^{n-m} (\frac{1}{2})^m u[m] = (-1)^n \sum_{m=0}^n (-\frac{1}{2})^m$$

$$= (-1)^n \frac{1}{1 - (-\frac{1}{2})} = \frac{2}{3} (-1)^n.$$

$$6. \text{解: } \sum_k a_k y[n-k] = \sum_k b_k x[n-k] \Rightarrow Y(\omega) \sum_k a_k e^{-jk\omega} = X(\omega) \sum_k b_k e^{-jk\omega}$$

$$\Rightarrow H(\omega) = \frac{Y(\omega)}{X(\omega)} = \frac{\sum_k b_k e^{-jk\omega}}{\sum_k a_k e^{-jk\omega}} = \frac{1 + \frac{1}{3}e^{-j\omega}}{1 - \frac{3}{4}e^{-j\omega} + \frac{1}{8}e^{-j2\omega}} \quad \begin{matrix} 1/2 & -1 \\ 1/4 & X & -1 \end{matrix}$$

$$= \frac{(1 + \frac{2}{3})/(1 - \frac{1}{2})}{1 - \frac{1}{2}e^{-j\omega}} + \frac{(1 + \frac{4}{3})/(1 - 2)}{1 - \frac{1}{4}e^{-j\omega}}$$



References